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Q-1 (a) With usual notations, prove that, 8
i) L<F<P,  ifL<P
i) L<ME<P, ifL<P
) ALY ABAHL 2ot 52l - ¢
) L< F <P, ifL<P
i) L<ME<P, ifL<P
(b) Define an index number. Explain Fisher's methods of constructing 6
the price index numbers. Why it is called Ideal Index?
) AU Hisell vl Ul eilddl AAS sl Al Hiedl gledl wadlml g
ovial. sloteetl s eul Hie wieel séatu?
OR/ »adl
Q-1 (a) What is cost of living Index Number? Explain the aggregate &
expenditure method and family budget method of constructing the
Cost of Living Index Number.
) wddlaaledl vidal Auspis ded 2?7 waaldaleal vildl Aus s dUlR ¢
seal Hieo(l  gavtelell wald 2 7 8lé(0ts otve wald’ 2edevdl.
(b) <A e HlEdl He 1) WAM 2 WGM uald wadldale 22s -2is 6
alledl:
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Q-2 (a) Explain giving examples different components of time series.
) AHAs Aollall yel-oyel wesl (AN Gelerl 2dlal Hxowal, ¢
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Compute the trend values by using a least squares method from the
following data and estimate the production for year 1998.
Year 1992 1 1993 | 1994 | 1995 | 1996

Production | 12 15 25 22 26
o(ld el ML HIE eyt ol uald sl AT Al 2lal e ay
1998 Hle Gculestd, QL 52,

ay 1992 | 1993 1 1994 | 1995 | 1996
Gculeet ( ‘O00sRs) | 12 | 15 | 25 | 22 | 26
OR/ > 4]

Considering the additive model for a time series data, explain the
determination of trend values by the least square method.

Acelsl viopuR HURAL wrtadl s uHls Sell 1 e Wdd idla
aystetedldll sl sl adsdl Budle (Galzer 26 culeolle adstel

- (BMclle] L6t AHwal

Estimate the linear trend values using 3- yearly moving average
method from the following data.

Year ; 1999 | 2000 | 2001 | 2002 | 2003 | 2004 | 2005
Profit(Crores Rs.) | 83 94 | 98 | 93 80 | 90 | 92

dld el Ml He 3-aNlu Aldd 0eledl Usld 4zl B35 ddeldl
el (BHa elel,

oy 1999 | 2000 | 2001 | 2002 | 2003 | 2004 { 2005
Beulest ( ‘000sRs) 80 90 92 83 94 98 93

What is business forecasting? What are the requirements of a good

forecasting system?

HRiSlA YAl wi2d 8 87 A1 YAl @Azl sralaidl o &2

In the industries of coal and steel for the production of 1 ton of coal
0.35 ton of coal and 0.15 ton of steel is used. While in the production
of 1 ton of steel, 0.5 ton of coal and 0.4 ton of steel is used. The final
demand of coal and steel are 8 tons and 3 tons respectively. Find the
total production of coal and steel.

uls GEONHI 1 29t Sletlett Geulget HIZ, 0.35 201 Sl U 0.15 2ot W ctell GUAIL 2L

B 2R, 120l Wleetl GllEalHl, 0.5 2ot AR A 0.4 21 W\ Aol GUADL Ut D Sl
A Kl ctell AH HidL BofsN 8 201 UA 3 201 B SN WA W ctof 5E Geuleot AN

OR/ »aa
Explain the ‘Exponential smoothing” method for business
forecastihg.
A4 2UNEL HI2 "disly U20il520 (Exponential smoothing)' YeAldd AHoMAL
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A hotel in a coastal town in India recorded the following room occupancies in

the months of November and December.

Using o = 0.25, what would be the forecast for the month of January
using the exponential smoothing technique? The forecast for the November is

145.

Month

November

December

Room occupancies

142

- 157

6
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142 | 157

HIZ DI 9] 22 43497 Wzl wiondl 145 99,

Explain giving example in each of the following terms:-

i) Average Revenue ii) Marginal Revenue,

demand, iv) Total Revenue.
Al vutal 25 (RasqAul Gelsio 2wl -

i) A1 vH14S,

i) dluid Heya,

Define ,pyand I, , In usual notations prove that:

i)
i)

nPx =Px- Px+t- px+2 ------ Px+n-1

L=Y"14,

-1, =0

oDy el L oA 530, AL HsAH A AU 52 5
1) np.\=px- Px+1- Px#2eeeee Px+n-15

ii1) Elasticity of

iii) Hioedll Rafdzaiusdl, iv) sa wias

i) =YW td o, =0dnd
OR/ maal
Explain the meaning of elasticity of demand. In usual notations,
prove that:-
AR
T"AR-MR.
Hiotell HeuAatal - vl d wAletd A3l 2ufoid 2l
A.R
""AR-MR.
Fill in the blanks of the following Abridged life table which are
marked with query:
Age X. I, de |qu| P Ly T ey
35 9345 | ? | 2?2 | ? 163819 ?
36 9243 | 149 ? ? ?
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GHQ X. Is dy gx | Py | Ly T, eJ? 1

35 9345 | 2 | 212 ?21163819| 2

36 9243 1149 2 | 21 2 ? ‘?j
Explain giving example, Simple Random Sampling  With
Replacement and Without Replacement.

Geteeil AlA yeawll AR i yeasll ofd 21 uce (eeld walda
AHM .

The units of a population are: 8, 5, 2, and 9. Draw a Simple Random
Sample of size 2 units with replacement and verify the following
results-

L. EF)=Y ii.E(s?) =52
818 A8 elReal wadlsetl: ¢, U, 2, ¢ Hiell yeaell ARd o lslal ssu
i (el dami 20d @, dl ool uBoun wsial,

i. E(y)=Y

ii. i, E(s?) =§?

OR/ »aan
Define simple random sampling. In usual notations, show that in

case of SRSWOR
i) E(Y)=7,
i V(F)= (1—1].92
n N
AR 1529 [Aedid ugAld ol 521 el dididi saiidl s 1o 17269 [Argid
YeHladl Brauni-
i) E(Y)=7T.
iy  V(Y)= (1—1),@
n N
The units of a population are: 3, 6, 8, 2, and 11. Draw a Simple
Random Sample of size 2 units using Without Replacement and
verify the following results-
ii. . E(y)=Y ,
iii. E(s%) =8¢
819 A5 wHal vaclsal: ¢, Y, 2, ¢ Hiell yeael 2Asd o BsHlel 2isu
dnid (Aeetl dai 20 ©, dl oldall uBoud asi.
i. E(J)=Y,
iv. E(s?)=5’
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